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Questions 1:

For any two given positive integers a and b there exist unique whole numbers q and r such that
Here, we call 'a' as dividend, b as divisor, q as quotient and r as remainder.

Dividend = (divisor quotient) + remainder

Questions 2:

By Euclid's Division algorithm we have:

Dividend = (divisor * quotient) + remainder

=(61*27)+32=1647 + 32 =1679

Questions 3:

By Euclid's Division Algorithm, we have:

Dividend = (divisor quotient) + remainder


https://www.aplustopper.com/lesson/rs-aggarwal-class-10-solutions-real-numbers-2/
https://www.aplustopper.com/lesson/rs-aggarwal-class-10-solutions-real-numbers-2/
http://bit.ly/2luyDPZ
https://trello.com/c/Dnr91T3D
https://drive.google.com/drive/u/0/folders/1DPjRWqE3iFnX1JKYYZoF9vQxIur5OzA7
http://bit.ly/2lxfRXT
https://docs.google.com/document/d/e/2PACX-1vQBMA8PyK_ba4CT4AEsEU-eUbsMGhUeWzK06ZuudSR7p3b8w9uxPQsn5ybO-8ocybrNkfADrXybXeEu/pub
https://docs.google.com/document/d/e/2PACX-1vQBMA8PyK_ba4CT4AEsEU-eUbsMGhUeWzK06ZuudSR7p3b8w9uxPQsn5ybO-8ocybrNkfADrXybXeEu/pub
http://bit.ly/2ttUlan
https://docs.google.com/presentation/d/e/2PACX-1vQQP_Mtd1ZAcxGXKn0TMwfjl3vdhsAUfZ4H4daxuYRLq1BFZ2aNxT6InBcLHrs7FVwtcLEQPdaMhmMG/pub?start=false&loop=false&delayms=3000
https://docs.google.com/presentation/d/e/2PACX-1vQQP_Mtd1ZAcxGXKn0TMwfjl3vdhsAUfZ4H4daxuYRLq1BFZ2aNxT6InBcLHrs7FVwtcLEQPdaMhmMG/pub?start=false&loop=false&delayms=3000
https://docs.google.com/presentation/d/e/2PACX-1vQQP_Mtd1ZAcxGXKn0TMwfjl3vdhsAUfZ4H4daxuYRLq1BFZ2aNxT6InBcLHrs7FVwtcLEQPdaMhmMG/pub?start=false&loop=false&delayms=3000
http://bit.ly/2luz78L
https://sites.google.com/site/aplustopperguide/rs-aggarwal-class-10-solutions-real-numbers
http://bit.ly/2twqTR0
http://aplustoppernotes.blogspot.com/2018/06/rs-aggarwal-class-10-solutions-real.html
http://bit.ly/2Kh8dPs
https://aplustoppernotes.wordpress.com/2018/06/23/rs-aggarwal-class-10-solutions-real-numbers/
https://aplustoppernotes.wordpress.com/2018/06/23/rs-aggarwal-class-10-solutions-real-numbers/
http://bit.ly/2tnrHbx
https://wp.me/p9YiSz-2T

1365 = {divisor = 31) + 32
1365- 32

= divisor
31
= 1330 _ divisor
31

s Divisor = 43
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